Eco 307 



Homework #1 




Taggert J. Brooks

Due: September 17th

Using the following data: CLL-data.sav

Go to my homepage and download the file called CLL-data.sav.  You can also download the file called CLL-prog.sps to help in interpreting the variable names.  Or see the appendix to the assignment.
For the questions 1- look at the following variables: classif, college, gender, termgpa, cumgpa, actmth, age, perrnk, aptpre, aptpost, final, score, finalgra, control
Classify each variable in the data set as either: nominal, ordinal, interval or ratio.

Classif – nominal (ordinal?)

College – nominal

Gender – nominal

Termgpa – interval (ordinal?)

Cumgpa – interval (ordinal)

Actmth – interval

Age – ratio

Perrnk – ratio (interval?)

Aptpre, aptpost, final, score – ratio

Finalgra – ordinal (interval?)
Control – nominal 

2. Describe each variable using both an appropriate statistic and graphical representation. Note: it may be useful to recode some variables, like finalgra for example.
There are many possible correct answers here. Some examples of descriptive statistics are found below, see the SPSS output file for examples of appropriate graphs:
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Looking at the Interval/Ratio scaled variables we have:
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3. Looking at (describe) college, classif, cumgpa, actmath, and final, by gender and by control.  For some you may provide an appropriate graphic description do there look to be differences?
There are many possible correct answers here.

4. For the above bivariate relationships do the appropriate statistical test to see if there are differences
Note: For the following Chi-squared tests it is important that every cell have a minimum expected count of 5 observations in order for the statistic to be valid, and inference to be appropriate. If you notice in every case below there are at least 2 cells that don’t meet this requirement.  So you should combine categories where appropriate to over come this problem.  Your answers should be different, but they will depend on how you combined categories.
 college gender
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college control
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classif control
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classif gender
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The follwing three t-tests for mean difference with independent samples can be found below.

cumgpa gender (this appears to be the only significant difference in means...females have a higher GPA)
actmth gender (no sig diff)
final gender (no sig dif)
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The following three t-tests for mean difference with independent samples can be found below.

cumgpa control (at the 5% level no sig dif, there is at the 10% level)
actmth control (at the 5% level no sig dif)
final control (at the 5% level no sig dif, there is at the 10% level)
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Some variable descriptions can be found below, the others can be garnered from the file cll-prog.sps on the website.

Aptpost: the number of correct responses out of 20, same q’s as aptpre, but given at end of semester

Score: the number of correct responses out of 40 to a final exam that remained the same for ALL students

Final: Score + Aptpost

Finalgra: The final letter grade where A=7,A/B=6,B=5,B/C=4,C=3,D=2,F=1,EF=EP=W=WP=.

Aptpre: Number of correct answers out of 20 same questions as aptpost, given at beginning of semester Actmth: score on quantitative portion of the ACT

Age: age of student on the tenth day of the class

Perrnk: Highschool class rank (100*(1-(rank/class size)))

Repeat: indicator variable = 1 if they are repeating the class

Control: Indicator variable takes the value of 1 if they were in the control group, 0 otherwise

